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1. MIREZEERT > W—(EZE /) ?

Which of the following results is the least value?

A. 1956-4.7x2.3

B. 235+ 28.37 + 3.2

C. (1.72+032+1.33)x0.8
D. 65.7-(11.1x2-9.9)
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INEP6LH- B S E A

B - BV EPNFEEE ?

How many Chinese characters are symmetrical?
TKEREXAS

A. 3
B. 4
C. 5
D. 6
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INEP64E-EREZE R

—EERNREKFE - IBAEHEWAKP - KU LF 72E EDj

R BEHENEBEFIEZ ) ? g
There is a half box of water. After putting 4 eggs into the
water, the water level rises 2 cm. What is the average

volume of each egg?

A. 40cm?3 B. 50cm?3
C. 60cm3 D. 70cm3 /7@
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TE/NBRRFE IS FERE9.8% - 7THE - Ry F19E

L) ?
The average age of the seven children is 9.8 years
old. After 7 years, what is their average age?

A. fR¥FA%E Stay the same

B. &/ 7 5% Increase by 7 years
C. /0 1 5% Increase by 1 year
D.

# AT E Uncertain
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